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Becouse of the abundande of whesl
comtpanies and styles, Tt Is Tnmpossible
for Boer Rocing to quoraptes fit of
their broke systems te B specific
whesl style and/or rmanujasturer To
oid in determining for yoprself i your
wheels ore likely ta fit arpund a
specific Boer Rocing brode upgrode.
we eupply this brake system template.
To use ihis template 1o determine i,
follow these simple insird=tions

Warning!
Although these templateg are provided
to acale, fox and copy mochines ore
retoraus for reducing arffenlargin
Images alightly If you reqeived thig
templsile by dny method fpther than
qetting on original througn the maoil,
vou must measure both fhe horfizenial
ard vertical segles ta defermmine thme
adccuracy ©f the templatl

Instructions
+ After mespuring te ensure lhe
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Medsure hub center of
the wheel, select
correspending size 2

and eut out
2.300

accordingly,
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3.000

3.100

tefmplaite ispstil 1o seale, glue lhe
mplole teja piece of cordboard mr

e didmeler of the center
hub opening of yow whasl ta
defermine which sets of lines wre
oecurgle for your car

* Accurdtely cut the templdte dlang

the doshed Iines, using the center hub
lines that most ¢losely correspond o
your wheel's canter hub apening

* Place the temyplgte ineide your wheal
with cut edge flol ogoinst the
mounting surfdse of the wheel and
with 1he center hub sectien of the -
templole centered in the hub opening
of the wheel

¥ There must be ot ledsti 0100 in.
clearance between the colieer ond the |
wheel at every pork, If thers is
adequote rodial clearonee, but not
encugh faciol ¢lenrance, you may
mlace Fgﬂﬁgth(ﬂg between the whael
maunting pod and the templote to
mimie d spdesr, T this s required, -
note the width of the spocer and be
sure to wrder lhe propsr spwcers ot
the samne time yau order yaur broke
system.

+« Thig tempelate should B8 uted o3 o -]
guideline. Whesls thdt show minimum
clearance should be verifiad with
actual broke cempaonents whenever
possible.
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